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Pass Marks : 26

Answer all 20 questions from Group A, each question 

carries 1 marks.

Answer all Five questions from Group B, each question 

carries 4  marks.

Answer all Five questions from Group C, each question 

carries 8  marks.

All parts of a question must be answered at one place in

sequence, otherwise they may not be evaluated.

The figure in right hand margin indicate marks.
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factors affecting the erosivity

factors affecting erodibility.
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1. Choose the most suitable answer from the following

options :1x20=20

(ii)

(i)

(i)        

P.T.O

A raindrop of bigger sizes, strikes with:

(a) Greater K. E.

(b) Lesser K. E.

(c) Lesser Terminal velocity

(d) None of these

A soil having greater entrapped air involves:

(a) Less soil detachment

(b) More soil detachment

(c) No effect

(d) None of above

OT5005OT5005

OR

Write the measures for reducing the surface wind
velocity in brief.

Answer all Five Questions. 

Calculate the vertical interval to be used in bund 

construction at 5% land  slope. The soil of the area

has good crop cover during erosive period of 

rainfall with an average intake rate and an annual

rainfall is 675 mm having moderate rainfall 

distribution.

8 x 5 = 40

8

7.
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(iii)

(iii)

(iv)

(ii)

Air and soil temperature affect the :

(a) Soil erodibility

(b) Rainfall erosivity 

(c) Both (a) and (b)

(d) None of these

In water erosion, the energy sources to 

cause the erosion are..............

(a)  Raindrop

(b)  Water flow

(c)  Solar radiation

(d)  Both (a) and (b)

OT5005 OT5005

Differentiate rill erosion and gully erosion.

(RUSLE)

(RUSLE)

OR

OR

5.

4

6.

4
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(v)

(v)

(vi)

(iv)

Raindrop detaches greater soil particle than
the over land flow because:
(a) Overland flow involves less energy
(b) Falling raindrop involves greater energy
(c) Both (a) and (b)
(d) None of above

Energy required to detach the soil particles 
from  a  cohesive soil is..........
(a) Less
(b) More
(c) Veryless
(d) All above 

4.

OT5005OT5005

OR

OR

Define zero tillage

Define mixed cropping.

Tillage manipulation of soil

for determination of peak runoff rate.

3.

4                     

4                     
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Piping or tunnel erosion is caused by:

(a) Base flow

(b) Surface flow

(c) Inter flow

(d) All above

V -shaped gullies are prone to form in.......

(a) Hilly areas

(b) Flat areas

(c) Ravine area

(d) All above

(vii)

(vii)

(viii)

(vi)

Answer all Five Questions. 

2.

4

4 x 5 = 20

Define gully erosion.

(xx)

OT5005 OT5005
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The insoluble soil materials are.........

(a) Sand and silt only

(b) Clay and organic matters

(c) Sand, silt clay and organic matters

(d) None of above

Denudation is used to express the erosion in

terms of............

(a) Sediment yield per unit area

(b) Net erosion per unit area

(c) Gross erosion per unit area

(d) None of these

Permanent check dams are constructed by 
using
(a) Brick, cement, RCC etc
(b) Woods
(c)  Woods+ earth material
(d) None of above

Chute spill ways are located at the drop
 height of ..........
(a) Over 3m
(b) Over 5m
(c) Over 1m
(d) All of  above

(ix)

(ix)

(x)

(viii)(xviii)

(xix)

(xx)

(xix)

OT5005OT5005



10 7 1150511505

P.T.O

Bench terraces are constructed at...........
(a) Mild slope
(b) Steep slope
(c) Flat land
(d) None of above

In stream bank erosion, major erosion is 
from...........
(a) Bed portion
(b) Sides
(c) Washing along sides and bed portion
(d) All of above

Removal of transportable fragment of
materials form a soil mass by on eroding 
agent is called :
(a) Detachment
(b) Erosion
(c) Transportation
(d) All  above

An erosion in which rate of soil less exceeds 
the rate of soil formation is referred as.....
(a) Accelerated erosion 
(b) Normal erosion
(c) Glacial erosion
(d) Chemical erosion

(xvii)

(xvii)

(xviii)

(xvi)

(xi)

(xi)

(xii)

(x)
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Universal soil loss equation (USLE) is named
because?
(a) Its validity is more
(b) It accounts all parameters affecting the 
     soil loss
(c) It is universally adopted
(d) All above

Contour farming, contour bunds, terraces etc 
are the................
(a) Agronomical measures
(b) Mechanical measures
(c) Biological measures
(d) All  above

Large watersheds are those in which..........

(a) Overland flow is major flow

(b) Runoff is major flow

(c) Both (a) and (b)

(d) None of these

Although the land use capability class -III is

suitable for cultivation but requires.........

(a) Moderate conservation  measures

(b) Intensive conservation measures

(c) No conservation measures

(d) None of above

(xiii)

(xiii)

(xiv)

(xii)

(xv)

(xv)

(xvi)

(xiv)

OT5005OT5005
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Define watershed and write in brief the 

characteristics of watersheds.

limitation

types of strip cropping.

9.

OR

OR

8

8

10.

Define watershed and write in brief the 

characteristics of watersheds.

limitation

types of strip cropping.

9.

OR

OR

8

8

10.
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Write the importance of grazing practices in grass

land management

causes of stream bank erosion.

OR

8

***

11.

18 11505OT5005

Write the importance of grazing practices in grass

land management

causes of stream bank erosion.

OR

8

***

11.
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